

UNDERGRADUATE PROGRAM 2018-19 Academic Year Summer 2019 Effective July 1, 2019

Head No. of Ave. No. Head No. of Ave	65.00 37.88 31.63 134.50
SCU Undergraduate Degree Students - Quarter First-year Students 40 404.00 10.10 40 49 200.00 4.08 25.00 89 604.00	65.00 37.88 31.63 134.50
First-year Students Arts & Sciences 40 404.00 10.10 40 49 200.00 4.08 25.00 89 604.00	37.88 31.63 134.50
Arts & Sciences 40 404.00 10.10 40 49 200.00 4.08 25.00 89 604.00	37.88 31.63 134.50
	37.88 31.63 134.50
Rusinoss 10 201.00 10.58 10 42 151.00 3.60 19.99 61 352.00	31.63 134.50
	134.50
Engineering 21 205.00 9.76 21 20 85.00 4.25 10.63 41 290.00	
Total - First-year Students 80 810.00 10.13 80 111 436.00 3.93 54.50 191 1,246.00	35.75
Transfer Students	35.75
Arts & Sciences 26 301.00 11.58 26 17 78.00 4.59 9.75 43 379.00	55.75
Business 10 139.00 13.90 10 7 34.00 4.86 4.25 17 173.00	14.25
Engineering 5 59.00 11.80 5 2 9.00 4.50 1.13 7 68.00	6.13
Total - Transfer Students 41 499.00 12.17 41 26 121.00 4.65 15.13 67 620.00	56.13
Continuing Students - Main Campus	
Arts & Sciences 178 1,985.00 11.15 178 197 853.00 4.33 106.63 375 2,838.00	284.63
Business 86 964.00 11.21 86 129 541.00 4.19 67.63 215 1,505.00	153.63
Engineering 61 676.00 11.08 61 50 221.00 4.42 27.63 111 897.00	88.63
Total - Continuing Students - Main Campus 325 3,625.00 11.15 325 376 1,615.00 4.30 201.88 701 5,240.00	526.88
Continuing Students - External Study	
Arts & Sciences	
Business	
Engineering	
Total - Continuing Students - External 0 0.00 0 0	
Total SCU Degree Students	
Arts & Sciences 244 2,690.00 11.02 244 263 1,131.00 4.30 141.38 507 3,821.00	385.38
Business 115 1,304.00 11.34 115 178 726.00 4.08 90.75 293 2,030.00	205.75
Engineering 87 940.00 10.80 87 72 315.00 4.38 39.38 159 1,255.00	126.38
Total - SCU Degree Students 446 4,934.00 11.06 446 513 2,172.00 4.23 271.50 959 7,106.00	717.50
SCU Undergraduate Non Degree Students	
Main Campus 73 1,009.00 13.82 73 85 357.00 4.20 44.63 158 1,366.00	117.63
External Study	
Exchange Programs	
Total - Non Degree Students 73 1,009.00 13.82 73 85 357.00 4.20 44.63 158 1,366.00	117.63
Total Undergraduate Students 519 5,943.00 11.45 519 598 2,529.00 4.23 316.13 1,117 8,472.00	835.13

NOTES

- 1. SCU degree students include students admitted to the undergraduate degree program.
- 2. First-year includes first time degree-seeking students initially enrolling at SCU in fall, winter, or spring term.
- 3. Transfes include students with academic credit from another college, initially enrolling at SCU in fall, winter, or spring term.
- 4. Number (average) of units does not include units from audited classes.
- 5. In undergraduate programs, student full-time equivalency (FTE) is based on 12 units in F, W, and S terms, 8 units in summer terms.



UNDERGRADUATE PROGRAM - EXTERNAL STUDY

2018-19 Academic Year Summer 2019 Effective July 1, 2019

SCU Undergraduate Degree Students - External Study College of Arts & Sciences SCU - London Affiliated Programs - Tier 1 Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences SCU - London Affiliated Programs - Tier 1 Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.00 0 0 0.00 0	
College of Arts & Sciences SCU - London Affiliated Programs - Tier 1 Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences SCU - London Affiliated Programs - Tier 1 Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 3 Affiliated Programs - Tier 3 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 4 Affiliated Programs - Tier 3 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 4 Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Affiliated Pro	FTE
SCU - London Affiliated Programs - Tier 1 Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.000 0 0.000 0	
Affiliated Programs - Tier 1 Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.00 0 0.00 0	
Affiliated Programs - Tier 2 Affiliated Programs - Tier 3 Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.00 0 0.00 0 0.00	
Affiliated Programs - Tier 4 Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.00 0 0.00 0 0.00	
Affiliated Programs - Tier 5 Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.00 0 0.00 0 0.00	
Oxford Honors Program Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.000 0 0.000 0	
Exchange Programs Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.00 0 0.00 0 0.00	
Washington Semester - American Academy Panetta Institute Total - Arts & Sciences 0 0.00 0 0 0.00 0 0.00 0	
Panetta Institute Total - Arts & Sciences 0 0.00 0 0 0.00 0 0.00 0	
Total - Arts & Sciences 0 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	
	0.00
	0.00
Leavey School of Business SCU - London	
Affiliated Programs - Tier 1	
Affiliated Programs - Tier 2	
Affiliated Programs - Tier 3	
Affiliated Programs - Tier 4	
Affiliated Programs - Tier 5	
Exchange Programs	
Total - Leavey School of Business 0 0.00 0	0.00
School of Engineering	
SCU - London	
Affiliated Programs - Tier 1	
Affiliated Programs - Tier 2	
Affiliated Programs - Tier 3 Affiliated Programs - Tier 4	
Affiliated Programs - Tier 5	
Oxford Honors Program	
Exchange Programs	
	0.00
Total SCU Undergraduate Degree Students - External Study by Program	
SCU - London	
Affiliated Programs - Tier 1	
Affiliated Programs - Tier 2	
Affiliated Programs - Tier 3	
Affiliated Programs - Tier 4	
Affiliated Programs - Tier 5	
Oxford Honors Program Exchange Programs	
Washington Semester - American Academy	
Panetta Institute	
	0.00

- 1. For undergraduates enrolled in external study programs, registration is set initially at 19 units and adjusted to actual units earned upon completion of the program.
- 2. For undergraduates enrolled in an external study program and an ROTC course, the initial number of units will be greater than 19.
- 3. Number (average) of units does not include units from audited classes.



GRADUATE PROGRAMS - QUARTER 2018-19 Academic Year Summer 2019 Effective July 1, 2019

	Head	FULL-TIME S [*] No. of	Ave. No.		Head	ART-TIME S' No. of	Ave. No.	[Head	AL STUDENT No. of	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Graduate Students - Quarter											
College of Arts & Sciences	_										
Pastoral Ministries (M.A.)	3	24.00	8.00	4.00	9	36.00	4.00	6.00	12	60.00	10.00
Pastoral Ministries Distance Learning (M.A.)					19	76.00	4.00	12.67	19	76.00	12.67
Non Degree - Pastoral Ministries	_										
Total - College of Arts & Sciences	3	24.00	8.00	4.00	28	112.00	4.00	18.67	31	136.00	22.67
Leavey School of Business											
J.D./MBA Combined Degree	2	45.00	7.50	7.50	1	4.00	2.00	0.67	3	49.00	8.17
J.D./MSIS Combined Degree											
Executive MBA (EMBA)					1	2.00	2.00	0.33	1	2.00	0.33
On-line Marketing (coming in Fall 2019)											
On-line MBA	89	738.00	8.29	123.00	9	32.00	3.56	5.33	98	770.00	128.33
Master of Business Administration (M.B.A.)	179	1,486.00	8.30	247.67	63	212.00	3.37	35.33	242	1,698.00	283.00
Master of Science - Management Information Systems (M.S.I.S.)	1	6.00	6.00	1.00	49	92.00	1.88	15.33	50	98.00	16.33
Master of Science - Business Analytics (M.S.)	29	185.00	6.38	30.83	44	168.00	3.82	28.00	73	353.00	58.83
Master of Science - Finance (M.S.)	3	22.00	7.33	3.67					3	22.00	3.67
Master of Science - Supply Chain Management (M.S.)											
Non Degree - Business											
Post Baccalaureate CAAP	34	1,520.00	44.71	126.67	3	16.00	5.33	1.33	37	1,536.00	128.00
Total - Leavey School of Business	337	4,002.00	11.88	540.33	170	526.00	3.09	86.33	507	4,528.00	626.67
School of Engineering											
Doctor of Philosophy (Ph.D.)	8	32.00	4.00	8.00	4	5.00	1.25	1.25	12	37.00	9.25
Engineer's Degree											
Master of Science (M.S.)	69	340.00	4.93	85.00	181	261.00	1.44	65.25	250	601.00	150.25
Engineering Certificate	2	8.00	4.00	2.00	2	4.00	2.00	1.00	4	12.00	3.00
Non Degree - Engineering											
Total - School of Engineering	79	380.00	4.81	95.00	187	270.00	1.44	67.50	266	650.00	162.50



GRADUATE PROGRAMS - QUARTER 2018-19 Academic Year Summer 2019 Effective July 1, 2019

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Graduate Students - Quarter												
School of Education & Counseling Psychology												
Master of Arts (M.A.) - Counseling	4	30.00	7.50	5.00	5	16.50	3.30	2.75	9	46.50	7.75	
Master of Arts (M.A.) - Counseling Psychology	107	754.50	7.05	125.75	78	252.00	3.23	42.00	185	1,006.50	167.75	
Master of Arts (M.A.) - Educational Administration	25	192.00	7.68	32.00	16	48.00	3.00	8.00	41	240.00	40.00	
Master of Arts Teaching (M.A.T.) Multiple Subject	52	633.00	12.17	105.50	14	51.00	3.64	8.50	66	684.00	114.00	
Master of Arts Teaching (M.A.T.) Single Subject	32	371.00	11.59	61.83	22	73.00	3.32	12.17	54	444.00	74.00	
MAT Clear Teach Catholic School Teach												
Abb Pre Tch Prg Catholic School Multi												
Bilingual Cross-Cult Language Certificate					4	12.00	3.00	2.00	4	12.00	2.00	
Catholic School Leadership Certificate												
Alternative and Correctional Certificate												
Clear Teaching Certificate												
Credential for 6+ yrs Catholic School Teachers Certificate												
Preliminary Admin Service Certificate					1	3.00	3.00	0.50	1	3.00	0.50	
Preliminary Multiple Subj Teach Pro Catholic School Teach Certification	7	85.00	12.14	14.17					7	85.00	14.17	
Preliminary Single Subj Teach Pro Catholic School Teach Certificate	6	74.00	12.33	12.33					6	74.00	12.33	
Non Degree - Counseling Psychology												
Non Degree - Education						3.00		0.50		3.00	0.50	
Total - School of Education & Counseling Psychology	233	2,139.50	9.18	356.58	140	458.50	3.28	76.42	373	2,598.00	433.00	
Total SCU Graduate Students - Quarter	652	6,545.50	10.04	995.92	525	1,366.50	2.60	248.92	1,177	7,912.00	1,244.83	
Total 300 Graduate Students - Quarter	032	0,545.50	10.04	990.92	323	1,300.30	2.00	240.92	1,177	7,912.00	1,244.03	

NOTES

- 1. In Pastoral Ministries, student full-time equivalency (FTE) is based on 8 units in F, W, and S terms, 6 units in summer terms.
- 2. In Business graduate programs (except CAAP), student full-time equivalency (FTE) is based on 9 units in F, W, and S terms, 6 units in summer terms. In CAAP, FTE is based on 12 units all terms.
- 3. In Engineering graduate programs, student full-time equivalency (FTE) is based on 8 units in F, W, and S terms, 4 units in summer terms.
- 4. In Education & Counseling Psychology programs, student full-time equivalency (FTE) is based on 9 units in F, W, and S terms, 6 units in summer terms.
- 5. Number (average) of units does not include units from audited classes.



GRADUATE PROGRAMS - SEMESTER 2018-19 Academic Year

Summer 2019 Effective July 1, 2019

	FULL-TIME STUDENTS					ART-TIME S	_	TOTAL STUDENTS Head No. of			
	Head Count	No. of Units	Ave. No. of Units	FTE	Head Count	No. of Units	Ave. No. of Units	FTE	Count	Units	FTE
SCU Graduate Students - Semester and Special Programs	Oddin	Office	OI OIIII3		Count	Office	OI OIIII		Count	Office	115
School of Law											
Juris Doctor (J.D.) - Day	90	649.00	7.21	108.17	169	556.00	3.29	92.67	259	1,205.00	200.83
Juris Doctor (J.D.) - Evening	12	85.00	7.08	14.17	21	73.00	3.48	12.17	33	158.00	26.33
Juris Doctor (J.D.) - Day Study Abroad											
Juris Doctor (J.D.) - Evening Study Abroad											
JD/MBA Combined Degree	1	7.00	7.00	1.17	5	19.00	3.80	3.17	6	26.00	4.33
JD/MSIS Combined Degree											
Master of Laws (L.L.M.)	1	3.00	3.00	1.00	2	2.00	1.00	0.67	3	5.00	1.67
Master of Laws (L.L.M.) Abroad											
Non Degree Exchange											
Non Degree	31	248.00	8.00	41.33	36	149.00	4.14	24.83	67	397.00	66.17
On-line Master of Legal Studies (MLS) - Corporate Compliance ²	3	27.00	9.00	4.50					3	27.00	4.50
Total - School of Law	138	1,019.00	7.38	170.33	233	799.00	3.43	133.50	371	1,818.00	303.83
Jesuit School of Theology											
Master of Divinity (M.Div.)					1	3.00	3.00	0.50	1	3.00	0.50
Master of Theological Studies (M.T.S.)	1	6.00	6.00	1.00	2	6.00	3.00	1.00	3	12.00	2.00
On-line Master of Theological Studies (M.T.S.)											
Master of Theology (Th.M.)	1	6.00	6.00	1.00					1	6.00	1.00
Master of Theology (Th.M.) - Candidates											
Bachelor of Sacred Theology (S.T.B.)											
Licentiate of Sacred Theology (S.T.L.)	6	36.00	6.00	6.00	2	6.00	3.00	1.00	8	42.00	7.00
Licentiate of Sacred Theology (S.T.L.) - Candidates											
Licentiate of Sacred Theology/Master of Theology (S.T.L./Th.M.)											
Doctor of Sacred Theology (S.T.D.)											
Doctor of Sacred Theology (S.T.D.) - Candidates											
Master of Arts/Master of Divinity (M.A./M.Div.)											
New Directions											
Non Degree					4	10.50	2.63	1.75	4	10.50	1.75
Total - Jesuit School of Theology	8	48.00	6.00	8.00	9	25.50	2.83	4.25	17	73.50	12.25
Total SCU Graduate Students - Semester and Special Programs	146	1,067.00	7.31	178.33	242	824.50	3.41	137.75	388	1,891.50	316.08

NOTES

- 1. In the School of Law, in F, W, and S terms, student full-time equivalency (FTE) is based on 12 units, except for the Evening J.D. program which is based on 8 units, and JD/MBA or JD/MSIS programs which are based on 9 units. In summer Law programs, FTE is based on 6 units, except LLM programs where FTE is based on 3 units.
- 2. In the School of Law, the on-line Master of Legal Studies operates on a quarter calendar.
- 3. The Jesuit School of Theology offers a January Intersession. Otherwise, all JST programs operate on a semester calendar.
- 4. In the Jesuit School of Theology, student full-time equivalency (FTE) is based on 9 units in F, W, S terms, and 6 units in summer, except for the Common M.A. which is based on 12 units.
- 5. Students in New Directions and Non Degree programs are always considered part-time.
- 6. Number (average) of units does not include units from audited classes.



OVERALL ENROLLMENT 2018-19 Academic Year Summer 2019 Effective July 1, 2019

	FULL-TIME STUDENTS					ART-TIME S	TUDENTS		TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
2011 11 11 12	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Enrollment by Program												
Undergraduate Programs												
College of Arts & Sciences	244	2,690	11.02	244	263	1,131	4.30	141	507	3,821	385	
Leavey School of Business	115	1,304	11.34	115	178	726	4.08	91	293	2,030	206	
School of Engineering	87	940	10.80	87	72	315	4.38	39	159	1,255	126	
Non Degree Students	73	1,009	13.82	73	85	357	4.20	45	158	1,366	118	
Total Undergraduate	519	5,943	11.45	519	598	2,529	4.23	316	1,117	8,472	835	
Graduate Programs - Quarter												
College of Arts & Sciences	3	24	8.00	4	28	112	4.00	19	31	136	23	
Leavey School of Business	337	4,002	11.88	540	170	526	3.09	86	507	4,528	627	
School of Engineering	79	380	4.81	95	187	270	1.44	68	266	650	163	
School of Education & Counseling Psychology	233	2,140	9.18	357	140	459	3.28	76	373	2,598	433	
Total Graduate Programs - Quarter	652	6,546	10.04	996	525	1,367	2.60	249	1,177	7,912	1,245	
Graduate Programs - Semester and Special Programs												
School of Law	138	1,019	7.38	170	233	799	3.43	134	371	1,818	304	
Jesuit School of Theology	8	48	6.00	8	9	26	2.83	4	17	74	12	
Total Graduate Programs - Semester	146	1,067	7.31	178	242	825	3.41	138	388	1,892	316	
Total Enrollment	1,317	13,556	10.29	1,693	1,365	4,720	3.46	703	2,682	18,276	2,396	

NOTE

Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.



OVERALL ENROLLMENT 2018-19 Academic Year Summer 2019 Effective July 1, 2019

	FULL-TIME STUDENTS			I	PA	ART-TIME S	TUDENTS	I	TOTAL STUDENTS				
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of			
SCII Envellment by College/Sebeel	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE		
SCU Enrollment by College/School													
College of Arts & Sciences	244	0.000	44.00	244	202	4.404	4.00	4.44	507	2.004	205		
Undergraduate - Degree Seeking	244	2,690	11.02	244	263	1,131	4.30	141	507	3,821	385		
Graduate	3	24	8.00	4	28	112	4.00	19	31	136	23		
Total College of Arts & Sciences	247	2,714	10.99	248	291	1,243	4.27	160	538	3,957	408		
Leavey School of Business													
Undergraduate - Degree Seeking	115	1,304	11.34	115	178	726	4.08	91	293	2,030	206		
Graduate	337	4,002	11.88	540	170	526	3.09	86	507	4,528	627		
Total Leavey School of Business	452	5,306	11.74	655	348	1,252	3.60	177	800	6,558	832		
School of Engineering													
Undergraduate - Degree Seeking	87	940	10.80	87	72	315	4.38	39	159	1,255	126		
Graduate	79	380	4.81	95	187	270	1.44	68	266	650	163		
Total School of Engineering	166	1,320	7.95	182	259	585	2.26	107	425	1,905	289		
Non Degree Students - Undergraduate													
Total Undergraduate - Non-degree Seeking	73	1,009	13.82	73	85	357.00	4.20	45	158	1,366	118		
School of Education & Counseling Psychology													
Undergraduate - Degree Seeking													
Graduate	233	2,140	9.18	357	140	459	3.28	76	373	2,598	433		
Total School of Education & Counseling Psychology	233	2,140	9.18	357	140	459	3.28	76	373	2,598	433		
School of Law													
Undergraduate - Degree Seeking													
Graduate	138	1,019	7.38	170	233	799	3.43	134	371	1,818	304		
Total School of Law	138	1,019	7.38	170	233	799	3.43	134	371	1,818	304		
Jesuit School of Theology													
Undergraduate - Degree Seeking													
Graduate	8	48	6.00	8	9	26	2.83	4	17	74	12		
Total Jesuit School of Theology	8	48	6.00	8	9	26	2.83	4	17	74	12		
Total Enrollment	1,317	13,556	10.29	1,693	1,365	4,720	3.46	703	2,682	18,276	2,396		

NOTE

Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.